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Question | The difference between the simple interest between the simple interest received from two
different sources on Rs. 1500 for 3 years is Rs. 13.50. The difference between their rate of
interest 1s -

Rs.1500 &I &= Ifr W3 ast &1 a1 fAeet FIal § 9o a1t
3R Rs.13.50 g 1dT 3T ST &I FT 3R §dTSy|

A 0.1 %

B 0.2 %

C 0.3%

D 0.4 %

Answer C

Id 2

Question | The maximum number of students among whom 1001 pens and 910 pencils can be
distributed in such a way that each student gets same number of pens and same number of
pencils, is:

OET $I TASRdH TEIT ATd P Toleds &8 1001 Fered dA1910 G 7T Fr 58
TRE dieT 1T g & 9% o/ HF TS &I H FHold JAqT S« & J
Uffer g gl 8 |

A 91

B 910

C 1001

D 1911

Answer A

Id 3

Question | Unit digitin (264)'”+(264)%is :

(264)'"+(264)'%is # SHIS FT 3P gl

A 0

B 4

C 6

D 8
A

Answer




Id
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Question | Mohan purchased an article and sold it for Rs 2817.50 and earned 15% profit on the cost
price. What was the cost price of the article?
Algel & Tk o Tller 3R 302817.50 %9 #H &= 3R AeTd Hed W 15%¢le
HSIT foRaT| @ &1 dEIT H{ed T AT1?

A Rs 2500

B Rs 2450

C Rs 2550

D Rs 3315

Answer B

Id 5

Question | The ratio between the boys and girls in a class is 6:5 respectively. If 8 more boys
join the class and two girls leave the class then the respective ratio become 11:7.
What is the number of boys in the class now?
Teh HETT # o5 AR osfhal & & &7 3egard swaEw: 6: 581 IS 8 AR o5
Forg # A @ § AN &Y sfrat For oisdr § o AT T 1 78
ST 81 319 e H gt Hr g&ar fhder &

A 28

B 38

C 44

D 36

Answer C
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Question | A train travelling at the speed of 60 kmph crosses a platform in 20 seconds. What is the
length of the train?
60 TohaT 9T &¢ T 1T & IMET FXA dTell ¢l 20 AhS H Teh Tolchid I IR
Al g1 gof T FIaTS AT g2

A 333 meters

B 300 meters

C 336 meters

D Cannot be determined
iR w1& far o Fehar @

Answer D

Id 7

Question |In a college the number of students studying Arts, Commerce and Science are in the ratio
of 3:5:8 respectively. If the number of students studying Arts, Commerce and Science is
increased by 20%, 40%, and 25% respectively, what will be the new ratio of students in
Arts, Commerce and Science respectively?
T diolel H Holl,diored 3 AT oot arel TEl sy T&AT HHA:3: 5: 8
I # g1 I e, FHAN R AEH Ueol T OEl HT HEAT H HAA:20%,
40%3MR 25%T Fefer gt 8.aT shaer: Horaiorey 3R A= & ot &1 &3
eIt T gIam?

A 18:35: 50

B 3:10: 10

C 4:8:5

D 32:35:25

Answer A




Id 8

Question | If the area of a triangle is 1176 cm® and the ratio of base corresponding altitude is 3 : 4,
then the altitude of the triangle is :

fornely T81eT 7 &1l 1176 WY® TUT IMUR T T Moled T AT 3 : 4
g | NS I TS AT W 2

A 42 cm
B 52 cm
C 54 cm
D 56 cm

Answer D

Id 9

Question | A clock showing the time of 8 o,clock in the morning. How many degrees will the hour
needle rotate in the clock by 2 pm?

T TS UTd; & ¢ S AT THT 2T W &) 31 H WG & I do gue &
gs fonctel 3ier gaAam?

A 150 Degree
IRED)

B 144 Degree
144 f33i

C 168Degree
168 f3aft

D 180 Degree
180 Taft

Answer D
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Question | A tank is fitted with two taps. The first tap can fill the tank completely in 45 minutes and
the second tap can empty the full tank in one hour. If both the taps are opened alternately
for one minute, then in how many hours the empty tank will be filled completely?

TS TH H T A o9l .98l ool Tohl I quIdar 45 fFefe 7 oRar § 3R gaar
ol fraY & Y 1 8¢ & @rell Far g3 g gisay S IRy -9 § T -
T fAeie & T @il Sirar 8 @rell Sl &l quiadm ke & fovden @@g
ofaNaT?

A 2 hours 55 minutes

B 3 hours 40 minutes

C 4 hours 48 minutes

D 5 hours 53 minutes

Answer D

Id 11

Question | A and B can complete a work in 20 and 30 days respectively. B started the work, after 5
days A replaced B. Find the share of A in Rs 6000 to be given as salary to both of them?
A duT B TRl 1 &1 FAL: 20 &7 Td 30 GT H R @ gl B & &
YT Y& FhAT TUT 5 T & dc B & TUWT W A HR &lel ofdll| Hd FHATCT
% ST 6000 T HiT Fel Aslgl H A T fg&dm AT 72

A Rs 1000

B Rs 2000

C Rs 3000

D Rs 5000

Answer D




Id
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Question

A pole is crossed by a train in 25 seconds and 360 metre. Long platform is crossed in 37
seconds. Find length of train?

T ¢of Teh Gl T 25 qehs A TUT 360 AL & Uh Yol HT 37 dAhs H IR
ST &1 ISMEr I Jees qdsA?

600 metre
600 Hrex

750 metre
750 FHIeI

800 metre
800 Hrex

900 metre
900 Hrex

Answer

B

Id
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Question

Pratap bought a radio at a discount of 25% on the real price. He got 40 Rs more, when he
sold it at 140 percent of the cost price. Find the the price at which Pratap bought the
radio?

TaTT A T IFSAT 3R aAfdsh HIAd F 25 AT P& W ST 38 59
30 TS AT HoT T 140 G T =1 AT 3§ arEdides HAT § 40 €. 3Heh
el 38 fhe hrad oX A Tler am

800

700

900

o Q w| >

600

Answer

A




Id
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Question | The total surface area of a hemisphere is 166.23 sq cm, find its radius?
Teh NS & el Hlg HT &Ahel 166.23 T QAT §| 38R FAT AT A

A 4.2 cm

B 8.4 cm

C 1.4 cm

D 2.1 cm

Answer A

Id 15

Question |In an election between two candidates, 75% of the voters cast their votes, out of
which 2% votes were declared invalid. A candidate got 9261 votes which were
75% of the valid votes. The total number of voters enrolled in that election was:
U gAld H e 3FAGAR g1 75% AdCIi3it & e 3rel, fFaa & 2% die 31dy
9T X U 91T, U 3FAIGAR &l 9261 dic el S 94 dler &1 75% &, df
golld & ol Tl Herar § 2

A 16000

B 16400

C 16800

D 18000

Answer C

Id 16

Question | 64329 is divided by a certain number, 175, 114 and 213 appear as three successive
remainders. The devisor is
64329 &l 519 fohdll F&AT & 19T fGAm Srar g, dv 175, 114 JAT 213 AR el
AVl 3T &, al #AoT 82

A 184

B 224

C 234

D 296

Answer C
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Question |In a village, each of the 60 % of families has a cow; each of the 30 % of families has a
buffalo and each of the 15 % of families has both a cow and a buffalo. in all there are 96
families in the village. How many families do not have a cow or a buffalo?

T 9 F , 60 % IRART & 9H U T ¢ , 30 % IRART & a1 Ueh JF § qur
15 % 9RERT & org g - H et § | 91 ST IRaRT B dEdr 968 , o
forcer URERT & ur ue ot amg a1 HF g § 0

A 20

B 24

C 26

D 28

Answer B

Id 18

Question | Find the least multiple of 23, which when divided by 18, 21 and 24 leaves the
remainder 7, 10 and 13 respectively.

23 T ~YATH T AT B, TG 18, 21 TUT 24 @ T & W HAA: 7,
10 941 13 AV &I ?

A 3013

B 3024

C 3002

D 3036

Answer A




Id 19

Question | Direction: What is the approximate value will come in place of the question mark(?) in
the following questions?

5682 + 63 x 36=? x19

fFfaf@d ueat & gestaras feg ()@ TG 9 36ATAT Hiel FT §rm?
5682 + 63 x 36=? x19

A 170
B 190
C 210
D 240

Answer A

Id 20

Question | The sum of five consecutive even numbers of set A is 280. What is the sum of different
set of five consecutive numbers whose lowest number is 71 less than double the lowest
number of set A?

TUH 5 ANMdR TH TE&IT3T & T A ST JP1280 8 19T TINAR J&IAT3T &
AfFeT Tt &1 IRT F1 § s Feadd Fear71 G A fT g90 FF I a1 §

2t
A 182
B 165
C 172
D 175

Answer D




Id
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Main Text Read the following passage and answer the questions based on it.
Crude mineral oil comes out of the earth as a thick brown or black liquid with
a strong smell. It is a complex mixture of many different substances, each
with its own individual qualities. Most of them are combinations of hydrogen
and carbon in varying proportions. Such hydrocarbons are also found in other
forms such as bitumen, asphalt and natural gas. Mineral oil originates from
the carcasses of tiny animals and from plants that live in the sea. Over
millions of years, these dead creatures form large deposits under sea — bed and
ocean currents cover them with a blanket of sand and slit. As this material
hardens, it becomes sedimentary rocks and effectively shuts out the oxygen,
so preventing the complete decomposition of the marine deposits underneath.
The layers of sedimentary rocks become thicker and heavier. Their pressure
produces heat, which transforms the tiny carcasses into crude oil in a process
that is still going on today.

Question Marine deposits under the sea do not get decomposed because they

A Become rock and prevent oxygen from entering them

B Are covered by the sand and slit brought by the current

C Contain a mixture of hydrogen and carbon

D Are constantly washed by the ocean current

Answer B

Question Sedimentary rock leads to the formation of oil deposits because

A It becomes hard and forms into rocks which produce oil

B Its pressure produces heat and turns the deposits of animal carcasses and
plants into oil

C It turns heavy and shuts out the oxygen

D It becomes heavy and hard, and applies pressures to squeeze oil

Answer B

Question In order to have mineral oil, hydrogen and carbon are combined in

A Equal proportions

B Fixed proportions

C Varying proportions

D The proportion of two and one

Answer C

Question The time it takes for the marine deposits to harden into rocks is

A A few years

B Thousands of years

C Hundreds of years

D Million of year




Answer

D

Question The most apt title for the passage is

A Crude mineral oil

B How sedimentary rock is formed?

C How mineral oil is formed?

D Marine deposits under the sea

Answer C

Marks 1

Id 26 —-28

Main Text Choose the word which is opposite in meaning of the words given in each
question.

Question Wealthy

A Wicked

B Famous

C 111

D Poor

Answer D

Question Dull

A Pale

B Wise

C Shining

D Colourful

Answer C

Question Extrovert

A Boaster

B Mixer

C Introvert

D Social

Answer C

Marks 1
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Main Text Choose the word /phrases which is most similar in meaning to the word
phrases from the following options in each question.

Question Erotic

A Wandering

B Given to mistakes

C Difficult

D Amorous

Answer D

Question Sporadic

A Epidemic

B Whirling

C Occasional

D Stagnant

Answer C




ID 31-33
Main Text In each of the following questions find out the alternative which will replace
the questions mark.
A T T g Wt A & goH R T B | 9T uge oA &
aleil Ual H Teh Faewe TG AT § AT g8 JIH HT Ush UG ofcdl ©
| o T Rwedt 7 @ 98 AFeq g A W I7A & UG ¥ FAW
TFI=Y @ & |
Question Poetry : Rhyme : : Philosophy : ?
Hidar : e : : GVAATE : 2
A Music
e
B Law
Plefet
C Theory
faegra
D Imagery
YT
Answer C
Question Principal : Doctrine : : Living: ?
faa - fReera S 2
A Dead
C(_O
B Will
ol
C Livelihood
SHfdehT
D Likelihood
GHTGAT
Answer C
Question Drum : Instrument : : Drill : ?
SIMST argdy  cc fPer 12
A Hammer
gdis]
B Oven




3aeT

C Tool
AR
D Crescendo
BIE)
Answer C
Id 34
Question | A man said, “This girl is the wife of the grandson of my mother.” How is the man related
to a girl?
T 3MGH Fgdl &, “Tg o5 A AF & 9 f gt &7 |39 e # 39
IRG & Ty FAT FEEey B2
A Father
o
B Grandfather
alal
C Husband
gfa
D Father-in-law
ik
Answer D




Id 35

Question | Introducing a man, a woman said, “He is the only son of my mother’s mother”. How is
the woman related to the man?

Teh 3MMeAHT T IRTT &d gU AR el ¢, “AY A &I AT & ThAT I7 87 |
37 33IRT #7139 afead O Fa1 gFaey g2

A Mother
AT

B Aunt
3T
9

C Sister
g6l

D Niece
HToToll

Answer D




ID
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Main Text In each of the following questions, four words have been given out of which three are
alike in same manner, while the fourth one is different. Choose out the different one.
A el T Tde 9T H R Ueg 6F A B oeH @ A AfREd e
q A g o« o digr At § e g e easg g fifod |
Question Choose the different word from the following.
e 7 @ e s gy |
A Iron
B Sodium
S IERER
C Chlorine
FeId
D Iodine
AT
Answer A
Question Choose the different word from the following.
et & @ et e gy |
A Mars
HaTeT
B Sun
S
C Saturn
el
D Pluto
o
Answer B
Question Choose the different word from the following.
e 7 @ e s gy |
A Blacksmith
B Hammer
[RIE]
C Axe




D Knife
%

Answer A

Id 39

Question |In a certain code, ‘OPERATION’ is written as ‘NODQBUJPO’, how will be
‘INVISIBLE’ written in that code?
Teh & AN H ‘OPERATION” &l ‘NODQBUJPO’ fer@l S & 34T e o &
‘INVISIBLE’ &I & for@r Smem?

A HMUHTJICMF

B HMUHTHAKD

C JOWJTHAKD

D JOWIJTICMF

Answer A

Id 40

Question |In a certain code, ‘GRASP’ is coded as ‘BMVNK’ which word would be coded as
‘CRANE’?
U fAREA e 19T # ‘GRASP’ &I ‘BMVNK’ for@r Sirar & 38 e amer #
‘CRANE’ &I &d for@r Sem?

A FUDQH

B HWFST

C GVERI

D XMVIZ

Answer D




ID 41 —-43

Main Text In each of the following questions a number series is given with one tern
missing. Choose the correct alternative that will continue the same pattern and
fill in the blank spaces.
AR e I gAh e A v Aol & = § WA vk g ofed © |
Gd fawmedl # @ 38 HE Ahoq & AT S &7 =T AN
37TETOT FAT BT |

Question 15,45, 135,405, ...... 7 .......

A 550

B 650

C 945

D 1215

Answer D

Question 3,7,15,31,61, .....7 .......

A 125

B 112

C 127

D 118

Answer C

Question 5,12,26,54, 110, ......7 ........

A 220

B 222

C 210

D 156

Answer B




ID
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Main Text

Study the following information carefully and answer the question given
below.

A,B,C,D, E, F, G, Hand K are sitting around a circular table facing centre. B
is fourth to the left of G, who is second to the right of C. F is fourth to the right
of C and second to the left of K. A is fourth of to the right of K. D is not
immediate neighbour of either K or B. H is third to the right of E.

A & TR ST F eAgEsd afed gur G I geet & 3R
&Sy |AB,C.D.EFG,HTAT KTF M AT & IR RSP deg $T 3T
He X 3§ [B,GH aTC AT § S € e g § |FCH g
T § JUT K& &0 q@r § |AK® g i § | D, &1 df K
gerly & 3 AT & BT |HES e’ e @ |

Question

Who is fourth to the right of D?
D& g TlT &l g2

K

H

E

o Q w| >

B

Answer

D

Question

In which of following combinations is the third person setting in between the
first and second persons?

A A fhe wAIee A e cafed | ggel dUr gl afed &
a7 Sor 82

EKB

CHB

AGC

o Q w| >

FGD

Answer

D

Question

Who is third to the right of H?
H& ¥ diERT i g?

A

O w| >

Answer

D
G
F
C
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Question | Arrange the words given below in a meaningful sequence.
1. Police 2. Punishment 3. Crime 4. Judge 5. Judgement
A R I Usel Fr U ATNS HH H cIATEdd |
.9 LTS 3 IWY Y5 9. AT
A 3,1, 2, 4, 5.
B 1, 3, 4, 2, 5.
C 3,1, 4,5, 2.
D 2,4,1,5,3
Answer C
Id 48
Question | Arrange the words given below in a meaningful sequence.
1. Sentence 2. Chapter 3. Word 4.Paragraph 5. Book
A 2,3, 1,5, 4.
B 3,2,5, 4, 1.
C 5 2,41, 3.
D 53,2, 4, 1.
Answer C
Id 49
Question |Today is Tuesday. What day will it be 62 days from today?
ST FIGAR &, 37T ¥ 62 &t a1g Flegar et ghem 2
A Wednesday
JUAR
B Tuesday
HITTIR
C Monday
AHIR
D Sunday
fdar
Answer C
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Question |In a row of girls, Kamya is 5th from the left and Preeti is sixth from right. When they
exchange their position, then Kamya becomes 13th from the left. What is the new position
of Preeti from right?
sfral T we dfdd # , FFAT HT TUH S F 5 O T DT T T g A
6 ar g | ST I 39T TUATH 39T H Scold & al Hredr & TAHT a1 § 13 af
gl SraT & | T & R & ST T 9 ?

A 7

B 11

C 14

D 18

Answer C

Id 51

Question | Three of the following four number-pairs are alike in a certain way and one is different.
Find the odd one out.
fArfaf@d ar & @ &9 dax A3 t FAfgd s @ & o § Ak
3refer g1 fawe g

A 3:18

B 7:70

C 4:24

D 9:108

Answer C




Id 52

Question | Select the figure that will come next in the following figure series.

3 TP T T Y ST IET i H@ell # 3T

| N [ A || ?

1!

%] [¥]

(LR

'\:I\I,

B

Answer A




Id 53

Question | Find the number of triangles in the given figure.

& % Ml 7 Frest & dear Aa A

———

A 11
B 14
C 16
D More than 22

Answer D

Id 54

Question |If 1+4=9, 2+8=18, 3+6=15 then the value of 7+8=?
gTe 1+4=9, 2+8=18, 3+6=15¢ dI 7+8=?

A 41
B 23
C 30
D 32

Answer B
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Question

Sonia left her house and went 4 km east then she turned left and walked 6 km. Then she
turned right and walked 4 km. How far is he from the departure point?

AT 39T ' & et 3R 4 el qF 1 37 a1 d& ag a0 gr 3N 6 fnelr
Toll| Y @ arv el 3R 4 fohalt =ell| a8 9eu Tel & fhcsll gt W g2

14 km
14 frd

8 km
8 fora

5 km
5 forat

10 km
10 Toret

Answer

Id

D
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Question

If PKROK code with 72962 and KRRPK coded with 29972 then how will be coded
NIJMLZ?

I PKROK &Y 72962 3X KRRPK &I 29972 & &9 & SIfed FIr orar g ar
NIMLZ &l @ Hifsd far smwam?

74314

91572

51430

O w| >

45176

Answer

C
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Question | From the given alternative words, select the word which cannot be formed using the
letters of the given word:
MERCHANDISE
fGu arv dwfous erearl |, 39 oeg F TAA Y o [GU AT eqeq & IHART HI
3TN leh IS sTal fhdT ST HeheT

A MESH

B DICE

C CHARM

D CHANGE

Answer D

Id 58

Question | Arrange the given words in the sequence in which they occur in the dictionary.
feT aTT ereel 1 3G A & FACER FafEAd Hifav|
(1) Necrology
(2) Nacromancy
(3) Necropolis
(4) Nacrophilia

A (1), (2),(3),(4)

B H2HA

C (2), (1), 3), (4)

D 2), (M), 3, 3)

Answer B

Id 59

Question | Complete the following alphabet series.
fFTei@d auTATeT STel &l 9 |
ABC, PQR, DEF, STU, ?

A VWX

B GHI

C UK

D GKL

Answer B
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Question | In following questions select the one which is different from other three responses.
Rfaf@a v &, v Qe &1 9T HL 3 3T diaT [hedl T BT g1

A I

B E

C B

D O

Answer C

Id 61

Question | Which Bank has become the first Indian bank to have an office in Australia's Victoria?
Flaar dF o T & AFIRIT F FATAT §67 aTeT I8l JIRAT Sh
T AT § |

A Axis Bank
a6

B PNB
qraetsr

C SBI
THAIITS

D HDFC Bank
TISTHH dh

Answer C




Id 62

Question | Who has been appointed by RBI as administrator for PMC Bank?
fehden! RIS A NuA 36 & v gerds Hgerd far g 2

A Shaktikanta Das
QrfFdId ar

B Jai Bhagwan Bhoria
ST AT HRT

C N. S. Vishwanathan
Uel. UF. [3aaTde

D B. P. Kanungo
CIRCICAG G|

Answer B

Id 63

Question | In which city, Tenth edition of the joint Military Exercise Ekuverin between the Indian
Army and the Maldives National Defense Force was organized?

fore oY & HRA et 3R AT AR 3%hE B & @ qgFd T
UFIa el T GHAT HERIUT RS fehar arm

A Pune
qoy
R}
B Visakhapatnam
faem@maeeaA
C Umroi
D Nashik
GIED

Answer A




Id 64

Question | Who flagged off the New Delhi- Katra 'Vande Bharat' Express, in New Delhi?
fraar A5 fgeell & Fel 'a AR ISAMST & g 3187 @ Tarer fFam

A Raj Nath Singh
T 1Y g
B Nirmala Sitharaman
foeer drarsoT
C Amit shah
AT g
D Bipin Rawat
ICIEGIRCG]

Answer C

Id 65

Question | Koneru Humpy is related to which sports?

FlAE gl forl Wl & HfAT 82

A Table Tennis
9o efag

B Chess
QTeRaT

C Tennis
A s |

D Badminton
SsfesT

Answer B




Id 66
Question | In which city, World Women's Boxing Championship was held?
ﬁm%mﬁﬁ?aﬂﬁmwwmg‘é?
A Ulan Ude, Russia
3l 33,89
B Tokyo, Japan
ST, ST
C Paris, France
aRE, s
D Beijing, China
CHSEIRCIG
Answer A
Id 67
Question | Which country has released a commemorative postage stamp on Mahatma Gandhi?
frg 2 o AgreAT M W T THRS 3 feahe S foram 87
A Bahrain
SgleT
B Uzbekistan
EECICaic)
C Israel
EXNELS
D Palestine
hTereder
Answer D
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Question |Ravindra jadeja become the fastest left-arm bowler to take the 200 Test wicket. He has
achieved this milestone in how many matches?
Idig S8l 200 ¢¥C fAehe olel dlel T ool 91U g1 & IGdTsl §ef |Soalel
forcet =i 7 75 H grffer forar g 2
A 45
B 44
C 43
D 42
Answer B
Id 69
Question | In which city, 22™ India International Security Expo 2019 was held?
fore ergT & 22 a1 sf3ar Sexar emﬁﬂﬂauwﬁrzowmgw?
A Mumbai
o] E
B New Delhi
g feeel
C Kolkata
hloTehTdT
D Dehradun
Answer B




Id 70

Question | In which city, India-Bangladesh Business Forum held?

ﬁm%mﬁm-mrwmmmagm

A Mumbai

e
B New Delhi
75 feeelr
C Kolkata
PleTehIcT
D Dehradun

SEIGET

Answer B

Id 71

Question | Who inaugurated Goa Maritime Conclave (GMC)- 2019?
forgar amar Mersd FloFold (SHTHAY)- 2019 FT 3tgre fham

A Ajit Kumar Doval
3T AR SNeATe
B Rajinder Khanna
TS Geal
C Pankaj Saran
Gehol EI
D Rajiv Kumar
Toid AR

Answer A




Id
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Question | Which day was observed as World Cotton Day?
Piaar T fag surw fGaw & 9 H A«rar = 2
A 1 October
1 3ergsiT
B 2 October
2 3TFE
C 5 October
5 argsT
D 7 October
7 argsy
Answer D
Id 73
Question | Dr. H L Trivedi has passed away recently. He was the --------------—-
GG IS I E AR I I T B B ) [ J—— |
A Writer
IGE|
B Athlete
TSl
C Scientist
CEIEC
D Surgeon
goied
Answer D




Id
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Question | Muktesh kumar Pardeshi has been appointed as the next High Commissioner of India to
which country?
HFAY FAR el et Qo & U R & 30Tel 3Tagerd & &9 H fogerd
fpu arw § 2

A Niue
Gk

B Sudan
st

C Nauru
A%

D South Sudan
cTaToT FETe

Answer A

Id 75

Question | As per Fourth Bi- monthly Monetary police Statement, What is the current Repo Rate?
Ay feg- ATl Hifge AIfd aeded & HeJaR, oAl I e &1 § 2

A 5.10%

B 5.40%

C 5.15%

D 5.00%

Answer C




Id 76

Question | Who is the new Chief Justice of the Kerala High Court?
el 3T AT & AU H&T ~IMETEfr Hief &2

A A mani Kumar
T HfoT $AR

B J K Maheshwari
S & ARSI

C L N Swamy
T Tl TOTAT

D Ravi Shankar Jha
A ST

Answer A

Id 77
Question | Farook Khan has passed away recently. He was the ---------------- .
R e G | e B 1o = B 3 e | R - —— |
A Scientist
CEIIEED
B Journalist
EECOES
C Doctor
GiCTay
D Athlete
TYelic

Answer B




Id 78

Question | Who become the first Indian to play 100 T20 international matches?

BT 100 T 20 ATARTSET HT Wl dTell Tgell ARG FaA1?

A Poonam Yadav
YoIH gied

B Smriti Mandhana
i AT

C Mithali raj
[ERICIIRIE

D Harmanpreet Kaur

FHINT HR

Answer D

Id 79

Question |India's first 'corporate' train Tejas Express launched on the which route?

HRA & Igell HIURS' ol Ao THEUH fohg AT TR & &I 187

A Agra-Bhopal
3ERT- STl

B Delhi- Chandigarh
ié{(*ifll-a‘g EJ[

C Delhi-Lucknow
Coall-oTgel >

D Bhopla- Gwalior
HITel- IR

Answer |C




Id 80

Question | Who has been elected as President of the Mumbai Cricket Association?

fordent Heg fohehe TEITATS & 3egel & &9 H AT T 87

A H. S. Arora

B Nilesh Shah
fororer emg

C Vijay Patil
faor ardrer

D Sanjay Naik
ol ASH

Answer C

Id 81

Question | In which city, Round Square International Conference 2019 was held?

frg AT H W33 THFARR SIAATA Hlhd 2019 AT Fr 715?

A Lucknow
[REEGED

B Indore
ECARY

C Jaipur
R

D Gurugram
IXIATH

S

Answer B




Id

82

Question | Which day is observed as World Post Day?
frg foT 1 [ s fea@ & & & AT AT 87
A 7 October
7 3argsl
B 9 October
9 gy
C 1 October
1 3fergsiT
D 5 October
5 gy
Answer B
Id 83
Question | Which state government has introduced the Mukhya Mantri Kanya Sumangala Yojana?
fha To7 WHR A FEIAA Fdl GHIAT AT BIMNA AT 2
A Madhya Pradesh
qET ST
B Andhara Pradesh
3T geer
C Uttar Pradesh
ESCERCE)
D Kerala
ol
Answer C




Id 84

Question |Indian Air Force has celebrated its anniversary on 8™ October.
HRAT g Gell o 8 HFCET Bl HIoAT —-omommemmemee IS FHAS ]
A g7
877"
B 86"“A
86"
C g4
84"
D 88“1.
88 "

Answer A

Id 85

Question | In which city, India's first e-waste clinic will be set up?

forg gt & 22U FT Ugel 5-h i Tanfua forar smeem?

A Mumbai

GEE]

B Bhopal
HqTer

C Kolkata
CACEarS]

D Agra
JATIRT

Answer B




Id 86

Question | Who has been awarded Nobel Prize 2019 for physics?
fora &fifashr & faw slder qRERR 2019 fem I g2

A James Peebles

SFg diged

B Michel Mayor
fAder AW

C Didier Queloz
IHEECCIE]

D All of the above
SWied T

Answer D

Id 87

Question | Antonio Costa has been re-elected as the prime Minister of which country?

TSI e AT fohdd 23U & TUETHA & &7 A BT & A1 9197 g2

A Nigeria

B Portugal
S

C Malawi
Helrdr

D Ghana
YTeT

Answer B




Id

88

Question | Naomi Osaka has won the China Open held in Beijing, China. She is from which
country?
ST 3ETRr ¥ AifSier, @i F 3TST agar A9 Sfar § |98 fha s 9
g2
A China
el
B Japan
STl
C South Korea
gfaror s
D North Korea
3T IR
Answer B
Id 89
Question | Nobel Prize in Literature awarded to Olga Tokarczuk for 2018. She is from which
country?
qIfged #H AldeT [WEHR 2018. % T 3HTeal eleheholeh 1 feam aram |98 foha
ar H
A Poland
SICES
B Canada
hellsT
C Australia
e TorT
D Serbia
afear
Answer B




Id

90

Question | Who becomes 1* female player to complete 20 yrs in international cricket?
FleT HARTSET Tohahe 3 20 AT X T dTell Tgell Afgell [GTsr Jeir 2
A Punam Raut
9aid I3d
B Harmanpreet Kaur
HAWT IR
C Smriti Mandhana
Hfa I
D Mithali Raj
IECICIRIE]
Answer D
Id 91
Question | AR 2sg F 3T IR IR Asg f&U 0| 39487 ¥ 3T gaAESS w3y
gy Rfega |
ea
A IGESETCY
B MEFR
C FarafiaATeT
D oty
Answer D
Id 92
Question | grereaTe &1 HY § FTal d1Gel, $HA A< 7T §
A farsay
B el gl
C T
C
D el STel
Answer B




Id 93

Question | fTfaf@a & @ Aeg-ef & goarg A

A SR

B g'cﬁ'ﬁw
C gierseY
D D AEATY

Answer A

Id 94

Question |faw a17 el & @ HEVCY Tclell dTel QAse; T oTd HITSAT|

A 3T

B 3fasmmasae
C fehaTearaet
D KGN

Answer D

Id 95

Question | fArafafad & ¥ HIT-a=g q&T & IIT HIToIT|
A drar ®ug el 2

B gl ST g ST

C wusT {1 ST 1

D M IRT TEAF & TS|

Answer B




Id

96

Question

fArfafad e & v av g/ g & @ $o A7 T & 3R Fo OF g1 I ard
aerd A | aer 7 A @Y, 39 1T T NEWiw (3E,H HYUAT ) & YA IR
g1 g g 7 ;S A 7 g FS A A I IW & w0 & RAfega ffow

A HIqHaTG ARG T TG
B 3eSTRN 3ORT &
C St fasa|wifa v gerfa &t fAerer @1 &1
D IS TMC T
Answer | A
1d 97
Question | grerzyier & forw weh @reish 2ree-
St #AACT & IR &l
A IGREE
B foAfer
C e
P fersgy
Answer |C
1d 98
Question | 7y foRam & 31 T &ieT & foFaT Tove 3R qOT &Y § 2
A SHEC
B UROTH
C GIECINED
D SATHETT
Answer | A )




Id 99

Question | greFzyier & faw veh T 2reg; -

fSraehT o geex 2l
A gave
¢ g
D gaha

Answer D

Id 100

Question | «7 @T ¢ 1, A& # W foram § -

A 3l

B @r

C ®

D = A A A A

Answer C




